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< Notice>
l 1) You can answer either in Japanese or English.

Choose two out of the following four questions.

Q_uestion 1
Neserihe the devs




BE& - BEmEy

() Urban and Bujld.i_ng‘Environment

ZBE |
Applicant M S
Number o .




X BB B 4
Subject

B DT

(3 L)  Energy Science and Technology

ZhRE
Applicant M
Number

aF0 2 EE  ERARFERERAERTRAETAR (MEREY) AFRREE (4 AAF)

Entrance Examination for Master's Programs (April 2020 Enrollment), Graduate School of Advanced Science and Engineering

C<EE >
D) THARE IR E 5 s OE LT KL,

< Notice>
1) You can answer either in Japanese or English.
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Answer the following two questions [1] and [2].
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OQuestion [2]  Answer the Tollowing guestions

1) Equation (1) shows the Kaya Identity explaining the impact of anthropogenic activity on

climate;
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where /71s population. G is gross domestic product (GDP). £ is energy consumption, and /7' is
total emission of CO,. Then. describe individually the meaning of G/P. E/G. and I/[2 on the
right-hand side of the Kaya Identity.

2)  Analyze the future outlook for total CO2 emissions in Japan and Bangladesh, which are
in different social environments and development stages. based on the Kaya Identity.

3)  Describe your opinions on the possible countermeasures to reduce the total CO2

emissions in both countries.



